
L C D M o n i t o r Ta b l e A r m s

P a r t s  L i s t

S p e c i f i c a t i o n

TA-0005A/A-822 B5-TA0005A-00

Unit:mm

Unplug all  the cables off the TV.

Recommend the other persons to hold the monitor.

Please evaluate the desk material whether is stable for installation.

Beware of the specification as first page.

300

300

158.40

M
A

X
:
7

0
1

6
6

7
. 3

1

7
2

4
. 0

1

75

100

7
5

1
0

0

3
6
0°

60
°

50°

1. Apply up to 26” LCD Monitor which
weight is less than 15kgs and have
VESA mounting

2. Meets VESA standard (75x75mm
and 100x100mm)

3. Each arm loading: 15kgs

ITEM

PARTS

QTY

1 2 3 4 5 6 7 8

1 1 12222

M5

MAIN PARTS

1

PARTS FOR TV BRACKETS

ITEM

PARTS

QTY

M4X8

8 8

M4X12

9 10 11 12

M4X6

2 2

360°

I n s t a l l a t i o n



L C D M o n i t o r Ta b l e A r m s

I n s t a l l a t i o n

TA-0005A/A-822 B5-TA0005A-00

II.I. III.

IV. V. VI.

VII. VIII.

2

1

M4X8

M4X12

SELECT

10

9

Adjustable loading

Adjustable height&direction

4

3

Control tension of
articulating arm.

8

To hold the wire.

65

7

11

12

1.

2.

To power
or computer

I n s t a l l a t i o n


